
q-series
q-series 

mounting instructions

Always disconnect battery before servicing any fuses or electrical system.

Thank you for purchasing Rigid Industries’ products for your Ford. 
Installation is fairly simple with the right tools and good mechanical abilities. 
If you are not con�dent in your mechanical skills, please seek the help of a 
professional to perform the installation. Please read through all of these 
instructions and tips before proceeding with installation.

™



q-series

 

⑤  

⑥  
② 

④  

⑦  

⑩  

⑨  

⑪  

③  

⑫  

①  

⑬  

⑧  

⑭  

⑮  

⑯  

⑰  

⑱  

⑲
⑲  

 

Item  Description  Qty  
Bracket 1 
Rubber Shock Isolation Mount 2 

3 Mount Bushing 2 
4 1/2"-13 UNC X 1.5" Carriage Bolt 1 
5 1/2" Flat Washer 1 
6 1/2" Split Washer 1 
7 1/2"-13 UNC Hex Nut 1 
8 3/8"-16 UNC X 1.5" Carriage Bolt 2 
9 3/8" Flat Washer 2 

10 3/8" Split Washer 2 
11 3/8"-16 UNC Hex Nut 2 
12 M8x1.25 X 30mm Socket Cap Screw  2 
13 M8 Flat Washer 2 
14 M8 Split Lock Washer 2 
15 M8x1.25 Hex Nut 2 
16 M6x1.0 X 22mm Socket Cap Screw  2 
17 M6 Flat Washer 2 
18 M6 Split Lock Washer 2 
19 M6 Square Nut 2 

2 
1

parts included



19

3

15

The illustration below demonstrates how the buts will be held in place by the
Mount Bushings. This pertains to both the left and right sides. 
     

Step 1

Screw  Thread  Max Torque (in•lbs) 

1/2"-13 UNC 465 
3/8"-16 UNC 212 

M8 195 
M6 80 

To ensure proper function of the supplied 
mounting kit,  please use the correct torque 
settings of all mounting screws.
     

caution



 

 

 

 

Stationary Mount
(2) - 13/32” Drill Bit

2.75 “

Alternate Swivel Mount
17/32” Drill Bit

Mounting Surface

NOT TO SCALE

DO NOT USE AS A

MOUNTING TEMPLATE

You will need to choose if you would like to mount your light in a stationary 
position or with one larger bolt, giving you the ability to swivel the light.
     

Step 2

Screw  Thread  Max Torque (in•lbs) 

1/2"-13 UNC 465 
3/8"-16 UNC 212 

M8 195 
M6 80 

To ensure proper function of the supplied 
mounting kit,  please use the correct torque 
settings of all mounting screws.
     

caution



Stationary Mount

Static Hardware  
Item QTY

1 1  
2 2 
8 2
9 2 

10 2  
11 2  

1

8

2

9

10

11

Mounting Surface



swivel  Mount

1

4

2

5

6

7
 

Swivel Hardware 
Item QTY 

1 1 
2 2 
4 1 
5 1 
6 1 
7 1 

Mounting Surface



Secure light to mounting bracket by following the diagram below. Be sure to 
install the washers and lock washers in the correct order to ensure proper installation.

Step 3

 

 

16

18 17

1314
12

 

Hardware 
Item QTY 
12 2 
13 2 
14 2 
16 2 
17 2 
18 2 

 

 



Find 
out 
more
info779 N Colorado St, Gilbert, AZ  85233 • (480) 655 0100 • www.rigidindustries.com

Follow us on facebook at 

facebook.com/RigidIndustries 

06/2013 - Part #40236

• Red to positive
• Black to negative

Attach red terminal eyelet to battery positive or any 12V DC source.  Secure black 
wire to suitable ground or battery negative. Route wires to your desired switch,
mounting locations,  and to your light. Taking care to avoid surfaces that are rough,
sharp, or hot.  Secure harness with zip ties.

When installing Rigid lights on a 24V DC system be sure to use a 24V relay.  
When installing multiple lights be sure to have adequate fusing.

Plug the Deutsch connector into the back of your light.

Test your light to ensure proper function and then secure mounting hardware 
according to your desired light beam angle.

wiring  instructions 

1.

2.

3.

4.

Your installation is now complete. 

Welcome to the Rigid Nation!


